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 BPYC-133  

BACHELOR OF ARTS (GENERAL) 

PHILOSOPHY (BAG) 

Term-End Examination 

December, 2022 

 

 BPYC-133 : LOGIC   

Time : 3 hours Maximum Marks : 100 

Note :  Answer all five questions. All questions carry 

equal marks. Answers to Questions no. 1 and 2 

should be in about 400 words each. The specified 

word limit is applicable only to answers having a 

descriptive nature.   

 

1. Write a note on ‘Hypothetical Syllogism’ with a 

special emphasis on its various sub-types. Give 

suitable examples for each.   20 

OR 

 Distinguish between deductive and inductive 

reasoning. What are the problems with inductive 

reasoning ? Explain.   20 

2. Write a note on the ‘Fallacy of Presumption’.   20 

OR 

 What are the problems with the ‘traditional 

square of opposition’ ? What is the significance of 

‘Venn diagrams’ in understanding and resolving 

those problems.      20 
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3. Answer any two of the following questions in 

about 250 words each : 210=20 

(a) What is a proposition ? Differentiate 

between classical and modern conceptions of 

proposition.   10 

(b) Write a note on the concept of validity 

highlighting and elaborating upon the 

following issues : 10 

(i) What is validity ? 

(ii) What is the relation between truth 

and validity ? 

(iii) What is the significance of validity in  

deductive logic ?     

(c) What is the Venn diagram technique ? 

Explain. Check the validity of the given 

syllogistic moods using Venn diagram 

technique :     10 

(i) EAE-2 

(ii) AII-2 

(iii) AOO-1 

(d) (i) What is meant by ‘conversion by 

limitation’ ? Explain with the help of 

an example.    

 (ii) Write the conversion, obversion and 

contraposition of the following 

propositions :    

  (A) ‘‘Some philosophers are not 

writers.’’ 

  (B) ‘‘No Sundays are holidays.’’  4+6=10 
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4. Answer any four of the following questions in 

about 150 words each : 45=20 

(a) Check the validity of the following 

argument using direct and indirect truth 

table techniques :   5 

P   Q 

 Q  R 

 P  R 

(b) What is the difference between the notion of 

argument as it appears in deductive logic and 

the notion of inference as conceived in Indian 

logic ?     5 

(c) If ‘Some philosophers are poets’ is True, then 

what is the truth value of the following 

propositions ?   51=5 

(i) All philosophers are poets. 

(ii) No philosophers are poets.  

(iii) All poets are philosophers.  

(iv) Some poets are not philosophers.  

(v) Some poets are philosophers.  

(d) What is a particular negative proposition ? 

Explain. Also represent it through its 

associated Venn diagram.  5 

(e) Distinguish between the Nyāya and 

Buddhist conceptions of ‘inference’.   5 

(f) Distinguish among tautologous, 

contradictory and contingent logical forms.   5 
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5. Write short notes on any five of the following in 

about 100 words each : 54=20 

(a) Pure Hypothetical Syllogism   4 

(b) Connotation   4 

(c) Propositional Form   4 

(d) Figure  4 

(e) Material Implication   4 

(f) Vyāpti 4 

(g) Class  4 

(h) Modus Ponens   4 
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 ~r.nr.dmB©.gr.-133  

H$bm ñZmVH$ (gm_mÝ`)  
Xe©ZemñÌ (~r.E.Or.)  

gÌm§V narjm 

{Xgå~a,  2022 

 

~r.nr.dmB©.gr.-133 : VH©$emñÌ 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : g^r nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm§o Ho$ A§H$ g_mZ h¢ & 
àíZ g§. 1 Am¡a 2 Ho$ CÎma bJ^J 400 eãXm| (àË`oH$) _| hmoZo 
Mm{hE & {ZYm©[aV eãX gr_m Ho$db dU©ZmË_H$ àH¥${V Ho$ CÎmam| 
na hr bmJy h¡ &  

 

1. ‘hoËdm{lV Ý`m`dmŠ`’ na BgHo$ {d{^Þ Cn-àH$mam| na {deof 
~b S>mbVo hþE EH$ {Q>ßnUr {b{IE & àË òH$ Ho$ {bE 
Cn`wº$ CXmhaU Xr{OE &  20 

AWdm 

 {ZJ_ZmË_H$ VWm AmJ_ZmË_H$ VH©$ _| ^oX H$s{OE & 
AmJ_ZmË_H$ VH©$ H$s Š`m g_ñ`mE± h¢ ? ì`m»`m  
H$s{OE &  20 

2. ‘nyd©YmaUm-VH©$Xmof’ na EH$ {Q>ßnUr {b{IE &  20 

AWdm 

 ‘naånamJV {damoY-dJ©’ H$s Š`m g_ñ`mE± h¢ ? BZ g_ñ`mAm| 
H$mo g_PZo Ed§ hb H$aZo _| ‘doZ S>m`J«m_’ H$m Š`m _hÎd  
h¡ ? 20 
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3. {ZåZ{b{IV _o| go {H$Ýht Xmo àíZm| Ho$ CÎma bJ^J  

250 eãXm| (àË`oH$) _| Xr{OE : 210=20 

(H$) à{Vk{á Š`m h ¡ ? à{Vk{á H$s emñÌr` Ed§ AmYw{ZH$ 
AdYmaUmAm| _| A§Va ñnï> H$s{OE &  10 

(I) {ZåZ{b{IV _wÔm| na àH$me S>mbVo Am¡a ì`m»`m H$aVo 
hþE d¡YVm H$s AdYmaUm na EH$ {Q>ßnUr {b{IE :  10 

(i) d¡YVm Š`m h¡ ? 

(ii) gË`Vm VWm d¡YVm _| Š`m gå~ÝY h¡ ? 

(ii) {ZJ_ZmË_H$ VH©$ _| d¡YVm H$m Š`m _hÎd h¡ ?   

(J) doZ S>m`J«m_ nÕ{V Š`m h¡ ? ì`m»`m H$s{OE &  
doZ S>m`J«m_ nÕ{V Ho$ à`moJ go {XE JE  
Ý`m`dmŠ` AdñWm H$s d¡YVm Om±{ME :  10 

(i) EAE-2 

(ii) AII-2 

(iii) AOO-1 

(K) (i) ‘gr{_V n[adV©Z’ go Š`m Ame` h¡ ? CXmhaU 
H$s ghm`Vm go ì`m»`m H$s{OE &    

 (ii) {ZåZ{b{IV à{Vk{á`m| Ho$ n[adV©Z 
(conversion), àË`mdV©Z (obversion) Ed§ 
à{Vn[adV©Z (contraposition) {b{IE :  

 (A) ‘‘Hw$N> Xme©{ZH$ boIH$ Zht h¢ &’’ 

 (~) ‘‘H$moB© a{ddma AdH$me H$m {XZ Zht  

h¡ &’’  4+6=10    
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4. {ZåZ{b{IV _o| go {H$Ýht Mma  àíZm| Ho$ CÎma bJ^J  

150 eãXm| (àË`oH$) _| Xr{OE : 45=20 

(H$) àË`j Ed§ AàË`j gË`Vm gmaUr {d{Y`m| H$s ghm`Vm 

go {ZåZ{b{IV `w{º$ H$s d¡YVm Om±{ME :  5 

P   Q 

 Q  R 

 P  R 

(I) {ZJ_ZmË_H$ VH©$emñÌ _| `w{º$ H$s YmaUm Ed§ ^maVr` 

VH©$emñÌ _| AZw_mZ H$s YmaUm _ | Š`m AÝVa h¡ ?  5 

(J) `{X ‘Hw$N> Xme©{ZH$ H${d h¢’ gË` h¡, Vmo {ZåZ{b{IV 

à{Vk{á`m| H$m gË`Vm _yë` Š`m h¡ ?  51=5 

(i) g^r Xme©{ZH$ H${d h¢ &  

(ii) H$moB© Xme©{ZH$ H${d Zht h¢ &   

(iii) g^r H${d Xme©{ZH$ h¢ &   

(iv) Hw$N> H${d Xme©{ZH$ Zht h¢ &   

(v) Hw$N> H${d Xme©{ZH$ h¢ &   

(K) {d{eï> {ZfoYmË_H$ à{Vk{á Š`m h¡ ? ì`m»`m H$s{OE & 

Bgo Bggo gå~pÝYV doZ S>m`J«m_ Ûmam Xem©BE &   5 

(L>) Ý`m` VWm ~m¡Õ Xe©Z _| ‘AZw_mZ’ H$s AdYmaUm _| 

AÝVa ñnï> H$s{OE &  5 

(M) nwZéº$mË_H$, ì`mKmË_H$, Amnm{VH$ Vm{H©$H$ ê$nm| _| 

^oX H$s{OE &  5 
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5. {ZåZ{b{IV _o| go {H$Ýht nm±M  na bJ^J 100 eãXm| 

(àË`oH$) _| g§{jßV {Q>ßn{U`m± {b{IE : 54=20 

(H$) ewÕ hoËdm{lV Ý`m`dmŠ`  4 

(I) JwUmW© 4 

(J) à{Vk{áH$ ê$n 4 

(K) AmH¥${V 4 

(L>) dñVwJV AmnmXmZ 4 

(M) ì`m{á  4 

(N>>) dJ©  4 

(O) {dYm`H$ ({dÜ`mË_H$) hoVw \$bmZw_mZ (Modus 

Ponens)   4 


